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Part A Instructions: Choose the option that completes the sentence or answers the question.  

 

1. Which one of these is not a well-defined set? 

 

a. 𝑁 

b. 𝑊 

c. 𝑍 

d. None of these 

 

2. Which one of these is a universal set? 

 

a. {𝑎, 𝑏, 𝑐, 𝑑} 

b. {0,1,2,3,4,5,6,7,8,9} 

c. {−1,1} 
d. None of these 

 

3. If 𝑨 =  {𝟏, 𝟑, 𝟓, 𝟕, 𝟗, 𝟏𝟏, … } and 𝑩 =  {𝟐, 𝟒, 𝟔, 𝟖, 𝟏𝟎, … }, then 𝑨 ∪ 𝑩 is: 

 

a. {1,3,5,7,9,11, … } 

b. {2,4,6,8,10,12, … } 
c. {1,2,3,4,5,6, … } 
d. None of these 

 

4. Which statement is true? 

 

a. 𝐴 ∪ 𝐵 = 𝐵 ∪ 𝐴 

b. 𝐴 ∩ 𝐵 = 𝐵 ∩ 𝐴 

c. 𝑈′ = { } 
d. All of these 
 

 

Part B Instructions: Answer the question below.  

 

5. Given 𝑼 = {𝟏, 𝟐, 𝟑, 𝟒, 𝟓, 𝟔, 𝟕, 𝟖, 𝟗, 𝟏𝟎, 𝟏𝟏, 𝟏𝟐},  𝑨 = {𝟏, 𝟑, 𝟓, 𝟏𝟏, 𝟏𝟐}, 𝑩 = {𝟐, 𝟑, 𝟓, 𝟕, 𝟏𝟏}, 𝑪 = {𝟕, 𝟏𝟏}, 

find 𝑨 ∪ 𝑩 ∪ 𝑪 and 𝑨 ∩ 𝑩 ∩ 𝑪.  

 
  
    

   

   

 

 

 

 

 

 

 

 


